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By 3% A FI054E01 H 27 H HEIDT o0 g 50 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
K IR B 10. 00| FA % 20 200 1, 080 972 864
IENE £ I& 10. 00| AHxf 115 1,150 1,188 999 680
HOR w5 5. 00 [ FH %} 11 55 2, 808
H ¥ o 13. 00| fHxf 200 2,600 1,080 972 864
ERSEaNe) o JE 12. 00 [ #A % 152 1,824 1,134 998 648
FEONAE (r— 4. 00| AR} 58 232 1,944| 1,914| 1,728
H & 5O 3. 00| FHxf 187 561 1,998 1,125 540
H A el 1. 00 | #H % 245 245 648 529 432
ENIEE 500 kit | 47| 235| 2,700| 2,309| 2 160
AN w5 2. 00 [ FH %} 154 308 1,296 1,249 972
w om | .30 #xr|  s7s| 13| or0 99| 178
[ 1N 5 5. 00| FA%f 352 1,760 3,780 2,643| 1,566
~7 h< |k F 3. 00| FHxf 31 93 1, 620
SR BN 2. 00 [ FHx} 12 24| 2,484 2,102 1,242
H 7% (= 5. 00 | FHxt 13 65| 1,728| 1,454 864
e JEE I 10. 00| AHxf 490 4,900 2,592 2,214 1,080
A= 4 b 10. 00| AHxf 542 5,420 1,836 1,177 756
B g 10. 00 | #H%f 266 2,660 2,700 1,982| 1,620
£ A L 10. 00| AHxf 154 1,540| 2,808| 2,039| 1,512
LA R L 10. 00 | #H%f 187 1,870 2,700 2,413| 2,052
P=—1rF & [ 4. 00| FHxf 560 2,240 1,836| 1,325 864
Tayal— w5 6. 00 | FH%f 311 1,866 3,024 2,519| 1,296
ENIE 6.00| 4| il 78| 2,808 2,431| 1,620
AEHEE w5 0. 10| #H%f | 3,750 375 178 138 65
ZDEH E % 0.20| #Hf | 2, 250 450 87 73 62
LU &k B 0. 20 [ #H %} 570 114 86
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ESR S TR = 1 =i Q1 IV NI )
Rz A FI054E01 H 27 H eI Dt e/ 28 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

38 Foak L 10. 00 | #H%F 838 8,380 4,482| 3,517 1,728
VA 1 Ak L 10. 00 | ¥H % 451 4,510 2,376| 2,257 2,160
5 U R 10. 00 | #H%f 345 3,450 4,104 3,183 2,052
Yafa— #H & 10. 00 | #H%f 61 610 4,320] 2,226| 1,836
Avava 7 4 U ¥ | 13.00]| A%t 39 507| 3,024 2,670 2,538
HEFH D & [ 0. 27 | ¥H %} 2, 424 660 691 509 292
S 5 0. 25| FHx} 8, 037 2,024 518 410 216
IRBHD Y £ IH 0. 25| FH*} 1, 167 293 454 398 270




